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1% n
@ a
© =
£
2 g
< %]
Q c
E [=}
= 3
24
o o
I I
o @
1
0¥E=30-15-10 -5 0 5 10 15 20 25 0 E=56-15-10 -5 0 5 10 15 20 25
TP dxy(PV) (cm) TP dxy(PV) (cm)
—"— DQM_TT_original_time
I N of sim] —— DQM_TT_modified_time
(%] n
Qo o
° =
5 3
2 E :
= 7] .
=] c B
S [=} .
= S pereeepeens
x :
°
T
o
4-0.2 0 0.2 04 0608 1 091080604020 02040608 1
TP dxy(PV) (cm) TP dxy(PV) (cm)
[N of simulated tracks vs dz(PV) ] [ Nof associated tracks (simToReco) vs dz(PV) ]
1%] n
Qo o
° =
5 5
2 E
x %)
Q c
S o
= 3
"4
o o
© ©
v @
0% 20 -10 0 10 20 30 0% =20 10 0 10 20 30
TP dz(PV) (cm) TP dz(PV) (cm)
[N of simulated tracks vs dz(PV) ] [N of associated tracks (simToReco) vs dz(PV) ]
1% 1J
2 a
o [
£
2 2
x %]
Q c
I S
= 3
@
o ; ;
T : :
x ! |11 | T
005 0 055 0

.5 1
TP dz(PV) (cm)

0.5 1
TP dz(PV) (cm)



	Contents
	Page 1


